Matrices - Class XIl

Past Year JEE Questions

Questions

Quetion: 01

Let 6 € (0,%). If the system of linear equations
(1 + cos?d)z + sin%Yy + 4sin30z = 0
cos?0x + (1 + sin®h)y + 4sin36z =0
cos?z + sin®Py + (1 + 4sin36)z = 0

has a non-trivial solution, then the value of 8 is :
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Solutions

Solution: 01

Explanation

14 cos?9  sin% 4sin340
cos%0 1+ sin% 4sin30 | =0
cos?0 sin% 1+ 4sin36

C1— C1+C2

2 sin4) 4sin36

2 1+4sin%  4sin30 |=0
1 sin?g 1-+4sin36
R1 — R1— R2,R2 — R2— R3
0 -1 0

1 1 -1 =0

1 sin% 1+4sin36

or 4sin36 = —2

sin 360 = —%
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